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1 I 5 .= . ‘_'h.‘-lf'r{“-"'lm) ﬁ,‘hd)h -Hm’
(a0 Ablas N3y (2.0 * 1075 m) J\seas el
20:10°m L - oo e X JSAN A LS daale ".;,l:-{lﬁ{].ﬂcrn)
. = Light with a wavelength of 600nm falls
[ { on a pair of slits that are
ki,, RO e 2.0 » 10 *m apart and located 100.0cm
Double slit Sdan from a screen, as shown in the figure.
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T (x) Vsl iy )S yall i el e s P
" Hnw far is the first-order bright band from the central
bright band (x)?
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Il
poiy S Sy aaS gada e f s gk
Lo 05T pa il Ao 058 glad Jalau
e s o) yaall alal) Cya Ao sanae AL
Ziladd) JSN 8 LS (0.2m) Adlaa Lo
(1.1%10°m) pa i) e el
Yousefuses aDVD as a diffraction
grating. He shines a laser on the
DVD. A series of red dots 0.2m ap
is formed on a screen as shown in
figure. the spacing between the ro’
on the DVD is 1.1x10°m.
TGa.‘m.“ wanl e il i \la o
a- How far is the screen from the DVD ? |

f Question 2
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What is the wavelength of the laser i e o
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A gy e Ar=) (6.0V) 2l

sa phntoelectnc cell.

The figure show | of the cellis

The stopping potcntla
6.0V.

IS A cpaall 2 0 52 s o yall (pa JS el ISV —

a- Lable parts | and part 2 shown on the figure-
o S MR e S R
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€U sall B3a 5o Zhasiall A4 gaiall coald o ST aliall 4,8 Ll e le-b

2
b- What is the maximum kinetic energy of the photoelectrons 11l Jules?
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[ Question 4 A
| (7.5%10™ Hz) 43> 58 33 5 (gamily

A violet light wave is with a frequency of 7.5% 10" Hz

?QM.'“M"J"AH&UJ‘J’LMQJ“ Ll:.l\__,\mh
a- What is the energy of this violet light photon‘?
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A light radiation of energy 2.50eV fialls on o photocell that uses & Cesium cathode.
Cesium has a threshold wavelength of 637nm.
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. \'t"llllt is l|'ll;.‘ wiork function ol Cesium i eV
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b- What the kinctic encry of the emitted electrons?
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*****BOUNUS*****
'uestion 6
l J_ﬁ*&,)ﬁ.;n:-g&mmmﬂl
(6.63%10° m/s) e

An electron is accelerated by a polel
difference from rest to a velocity of
6.63%x10°m/s.

e L

S yull 038 Jic T3S0 N g3 Aasa dy
== a- What is the de Broglie wave of the electron at this v
|

...................................................................................
......................................................................................................................

-----------------------------------------------------------

---------------------------------------------------------

he kinetic energy of the electron at this velocity is 2.00% 107473
agnitude of the potential difference?
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